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In early embryogenesis which of the following hormones will be abundant?
a. Gibberellins and Ethylene b. Auxin and Gibberellins
¢. ABA and cytokinin d. Cytokinin and Ethylene

The process of seed germination is the critical stage in plants life cycle and therefore
plants have evolved precise mechanism for its regulation. Therefore there are few
statements regarding this. Select the incorrect statement/statements.

1) Gibberellic acid (CA) and ABA are the main phytohormones that participate in the
regulation of seed germination process.

IT) GA and cytokinin are the main phytohormones that participate in the regulation of
seed germination process.

II1) The increase of GA during seed germination is associated with a decrease in ABA
because GA functionally destabilizes ABA.

IV) Increase of GA in seed germination is associated with decrease in ABA due to
presence of Cytochrome P-450 which helps in ABA catabolism.

a. lonly b. Il only

c. land IV d. Iland III
Which of the following is the component of nitrogenase ?
a. Fe-Mo protien b. Mo Protien
c. Fe- Protien d. Mn Potien

Nitrate is reduced and ultimately produces Nz through a series of intermediate gaseous
nitrogen oxide products is called as:

a. Nitrogen fixation b. Nitrification

¢. Denitrification d. Nitrogen assimilation
Which of the hormone regulates cell division and differentiation?
a. Gibberellin b. Auxin

c. Ethylene d. Cytokinin

The quantum yield in photosythesis is:

a. 8% b. 12%

c. 25% d. 50%

Which of the following is the common germination inhibitor?

a. Coumarin b. Ferulic acid

c. ABA d. All of these

The process of seed germination starts with:

a. Imbibation b. Diffusion

¢. Osmosis d. None

Total ATP output after complete oxidation of glucose molecule through ETS:

a. 32 b. 34

(¢ &5 a1
Warburg effect is related to:

a. Carbon dioxide b. Light
¢. Oxygen d. Water
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